Вариант №1
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3. По заданному значению функции найдите значения других тригонометрических функций
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Вариант №2

1. Вычислите 
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3. По заданному значению функции найдите значения других тригонометрических функций
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Вариант №3

1. Вычислите 
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3. По заданному значению функции найдите значения других тригонометрических функций
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Вариант №4

1. Вычислите 
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3. По заданному значению функции найдите значения других тригонометрических функций

А) 
[image: image35.wmf]2

3

;

6

,

0

sin

p

p

á

á

-

=

t

t


б) 
[image: image36.wmf]p

p

2

2

3

;

8

,

0

cos

á

á

=

t

t


_1440416947.unknown

_1440417299.unknown

_1440417596.unknown

_1440418241.unknown

_1440418266.unknown

_1440418397.unknown

_1440418446.unknown

_1440418301.unknown

_1440418255.unknown

_1440418219.unknown

_1440418232.unknown

_1440417631.unknown

_1440417437.unknown

_1440417466.unknown

_1440417521.unknown

_1440417448.unknown

_1440417413.unknown

_1440417428.unknown

_1440417340.unknown

_1440417181.unknown

_1440417201.unknown

_1440417242.unknown

_1440417191.unknown

_1440417157.unknown

_1440417172.unknown

_1440417101.unknown

_1440416433.unknown

_1440416543.unknown

_1440416725.unknown

_1440416464.unknown

_1440416369.unknown

_1440416408.unknown

_1440416298.unknown

